Examlet 3 Foundations of Advanced Math 3/28/14

1. a) State the definition of an injection.
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b) State the definition of a surjection.
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c) State the definition of equipollent sets.
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d) State the definition of a denumerable set.
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e) State the definition of a countable set.
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n D. Then f+ g is a bounded function.
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b) Letme N, and let f; be a bounded function from D to R for each i € {neN|n<m}
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Then z f, is a bounded function.
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3. IffA - Band g:B - C are injective functions, then g © fis injective.
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4. Tn class we used the fact that f(n)= is a bijection from the odd naturals to the

naturals. Prove that it is.
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5. If A is equipollent to B, then B is equipollent to A.
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